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⋮
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–1  ≤  (⇕n· (–1)n )  ≤  1
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limit

f: nat→rat

f 0; f 1; f 2; ...  is a sequence of rationals

(⇑m· ⇓n· f(m+n))   ≤ ⇕f   ≤   (⇓m· ⇑n· f(m+n))

  0  ≤  (⇕n· 1/(n+1))  ≤  0

–1  ≤  (⇕n· (–1)n )  ≤  1

⇓f  ≤  ⇕f  ≤  ⇑f
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limit

f: nat→rat

f 0; f 1; f 2; ...  is a sequence of rationals

(⇑m· ⇓n· f(m+n))   ≤ ⇕f   ≤   (⇓m· ⇑n· f(m+n))

  0  ≤  (⇕n· 1/(n+1))  ≤  0

–1  ≤  (⇕n· (–1)n )  ≤  1

⇓f  ≤  ⇕f  ≤  ⇑f

x: xreal   =   ∃f: nat→rat·  x = ⇕f 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limit

p: nat→bin 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limit

p: nat→bin

p 0; p 1; p 2; ...  is a sequence of binary values 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limit

p: nat→bin

p 0; p 1; p 2; ...  is a sequence of binary values

∃m· ∀n· p(m+n)   ⇒   ⇕p   ⇒   ∀m· ∃n· p(m+n) 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limit

p: nat→bin

p 0; p 1; p 2; ...  is a sequence of binary values

∃m· ∀n· p(m+n)   ⇒   ⇕p   ⇒   ∀m· ∃n· p(m+n)

∃m· ∀i· i≥m ⇒ p i   ⇒   ⇕p
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limit

p: nat→bin

p 0; p 1; p 2; ...  is a sequence of binary values

∃m· ∀n· p(m+n)   ⇒   ⇕p   ⇒   ∀m· ∃n· p(m+n)

∃m· ∀i· i≥m ⇒ p i   ⇒   ⇕p

∃m· ∀i· i≥m ⇒ ¬ p i   ⇒   ¬ ⇕p 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limit

p: nat→bin

p 0; p 1; p 2; ...  is a sequence of binary values

∃m· ∀n· p(m+n)   ⇒   ⇕p   ⇒   ∀m· ∃n· p(m+n)

∃m· ∀i· i≥m ⇒ p i   ⇒   ⇕p

∃m· ∀i· i≥m ⇒ ¬ p i   ⇒   ¬ ⇕p

⇕n· 1/(n+1) = 0     =     ⊥
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